Understand and apply Pythagoras’ theorem when solving problems in 2-D


	The area (in cm2) of a square with diagonal 20 cm
	The area (in cm2) of this triangle

	The type of angle at ‘?’


	The type of angle at ‘?’

	A side length (in centimetres) of a rectangle with diagonal 12 cm
	The distance between the points (1,3) and (5,6)


	An integer length of the hypotenuse

	The type of angle at ‘?’

	The height (in metres, to 1dp) of a window which is reached exactly by a 4 m ladder placed 1.2 m from the wall
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